MATHE&E

DECIMALS

Aclclitien.Puzzle

Complete the cross-word puzzle with the answers to the additio
point counts as one cell. Use scratch paper if necessary for sho
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ANSWERS

w. Remember, a decimal

3
2| [8[5].]5| [2]9]9].|84]
. 9 31 |.] |8
3.(12|7| =14 |7 .
8 o L] 7L 1115]
4 8l [5] |5
S’ 6| @64 5
71.16]0]3 . 5
.| [6]0|3]./6/|8] |.
2 31./5]2
1]5].]214] 8
Across Down

2789+ 1.38=3.27

34402 +41.3 =85.5
551/75+2428=7.603

7537 +987=15.24
8708.43 +495.25 =603.68

91.15+237=3.52

127/3.48 + 126.36 =299.84
144.71 +2.44 = 5.62

17.33+1.05=2.38
44711.213 4 186.247 =597.460
6../6+349=6.52
10572 +2.46 = 5.58
1M 7.8+45=6.3
12 10567+ 129.17 = 234.84
136334 + 3.441 = 9.775

15 17229+ 21586 =388.15
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